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	Simple Fact Present:

Present Indicative, Both Clauses:

“If he is doing this, he is wise.”


	Contrary to Fact Present:
____________________________________________
Imperfect Subjunctive Both Clauses

“If he were doing this, he would be wise.”

	Simple Fact Past

Past Tense ( Perfect or Imperfect) Both Clauses:

“If he did that, he was wise.”

	Contrary to Fact Past:

Pluperfect Subjunctive  Both Clauses:

“If he had done that, he would have been wise.”

	 Future More Vivid
___________________________________________

Future Indicative in Both Clauses:

“If he does this (will do this), he will be wise.” Translate first Future as Present.
	Future Less Vivid: “Should/ Would”


Present Subjunctive in Both Clauses:

“If he should do this, he would be wise.”





